(3N RMEBES O0&F *BiR /1 90&F HNEEER  ETHEBY

P
8
i
=
E
oA 8
i bld & 2 = 2]
es (5 ES piu t X xE 8B =
g2 B8 g B R N Y 1B x N 2 B
E =z %z % s A S F ~y A B % = @£ Z = 2]
M B B ® A B % o ot &R O&F IT XN M o & T B I3 OB B @8 2 B 3
B % & ® B W O K B ® &R ® J ®®W B ® X @ #ww B #® Y B R B ®#H B B8
—0—e—0—0—0— 60— O0— 0—0—O0—O0—O0—O0—O0—O0—O0—O— O—— 8—O——O——O——O——8——0 e

ET > - - T T YT — O
— — -«—

tbE (BREBRIT D)

—

BWNNREI =TI TSYNDRE

LEETAR

—

O EWRIRSSY—IT)Lal

0—0—0—0—0—0—0—0—0
o]
m
i

I AT
O BEBSRES—ITFILA = = BEY
ADY=I—=Vg N il M jﬁ 5
— BT ) E ?n' I’/EIZ E aa
[ ISOBI TR = £ ® ®B A 9° L B OB A %
m B Z XN B8 R OB B & 0O B
O BHEIEA A —T ) —0—06—0—0—0—0—0—0—0—0—0
ﬁunﬁJ@
O BRI ﬁEFL
- E%J?J@
XE7)IBT~FEBT 90 - 190F)L— B FEEHAD J)
e} O O—O—O—A—_.>—A—O—O—©—A—O—@—@—@—O—@J
e I\ 8 ®w % 2 £ K B #H T X R B K E B L
18 2 F B & 8 88 & B @M B85 T B 88 ¥ H #® %
. ) it - 3 5 R ) b=
A8 | 0 X F % B b ®
7 ols 5 ] ] ]
2 w2 &R
5 | W il
| gl
75» %1 90BBOHEE

=

% MERS « BRER/ YRS —ZTF )L [CDUVT, 90F « 190BIR TIIFRE « BBEBFINBRRXDIIDTITIERILES, KAZHABRERNIXE



